
Multiply by Negative Powers of Ten (D)Find each product.
31 × 10⁻³ = 12 × 10⁻³ =
90 × 10⁻³ = 17 × 10⁻³ =
59 × 10⁻¹ = 62 × 10⁻¹ =
85 × 10⁻² = 9 × 10⁻² =
60 × 10⁻³ = 63 × 10⁻² =
5 × 10⁻² = 10 × 10⁻² =
86 × 10⁻² = 8 × 10⁻² =
88 × 10⁻³ = 21 × 10⁻² =
86 × 10⁻¹ = 61 × 10⁻² =
34 × 10⁻³ = 30 × 10⁻³ =
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Multiply by Negative Powers of Ten (D) AnswersFind each product.
31 × 10⁻³ = 0,031 12 × 10⁻³ = 0,012
90 × 10⁻³ = 0,09 17 × 10⁻³ = 0,017
59 × 10⁻¹ = 5,9 62 × 10⁻¹ = 6,2
85 × 10⁻² = 0,85 9 × 10⁻² = 0,09
60 × 10⁻³ = 0,06 63 × 10⁻² = 0,63
5 × 10⁻² = 0,05 10 × 10⁻² = 0,1
86 × 10⁻² = 0,86 8 × 10⁻² = 0,08
88 × 10⁻³ = 0,088 21 × 10⁻² = 0,21
86 × 10⁻¹ = 8,6 61 × 10⁻² = 0,61
34 × 10⁻³ = 0,034 30 × 10⁻³ = 0,03
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